
Modal verbs fo� speculating

A Make guesses about the situations be]ow� Comp]ete the 
sentences with modal verbs and the verbs given� Sometimes there 
is more than one correct answer�  

1	 Yhu MC;n sMC qhudA hf =nC;XPdK K[;qq ;s yhun dCPKM=hn'q MhuqC dCxs Ahhn, ;dA sMCd ; qPnCe�
;
 Is must be (=C) ; =unK\;n fhn qunC� ?� TMC kh[Q?C (?haC)� 
=� TMC dCQKM=hnq (=C) ;y;~, kCnM;kq� A� TMC =ung[;n (=C) Pe sMC MhuqC� 

2. Yhu qCC ; ~hudK yha;e ;eA ~hueK a;d s;\XPdK husqQAC ; ?RdCa;
 TMC~ [hhX ukqCs�
;� TMC~ (M;wC) ;d ;nKuaCes� c� HC (=C) MCn A;sC, kCnM;kq� 
=� TMC~ (fCC\) wCn~ M;kk~� A� HC (sn~) sh ?hafhns MCn� 

3	 Yhu'nC Pd ; ?;= sM;s Pq KhQdK shh Fqs�
;
 TMC AnPwCn (=C) Pd ; Munn~, fhn qunC� 
=� HC (=C) ; wCn~ q;fC AnPwCn� 

?� HC _,,- (=nC;X) sMC qkCCA \PaPs�
A� HC (y;ds) sh KCs hff yhnX C;n\~� 

4
 Yhu qCC ; ?~?[Pqs qPssQdK hd sMC KnhueA eCxs sh MPq =PXC�
;� HC (=C) Muns, kCnM;kq� c� HC .,/0 (s;XC k;ns) Rd ; =P?~?\C o;?C

=� HC (s;XC) ; nCqs
 A� HRq =P?~?\C (=C) A;a;KCA� 

Adjectives e�di�g i� -ed a�d -ing
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Comp]ete the sentences� Write the correct adjectRve Eorms oE the words gRven� 

� M;sC Ps yMCd I'a hus yRsM ; Knhuk hf fnPCfAq ;eA yC ?;d's AC?QAC yM;s sh Ah� Is ?;d =C Pd?nCAP=\~ 
1239 (fnuqsn;sC)� I KuCqq yC'nC ;\[ (ResCnCqs) Pe APGCnCes sMRdKq� 
I KCs nC;[^~ (;ddh~) yMCd kChk\C q;~ sMC~'\[ aCCs aC ;dA sMCd sMC~'nC M;[f ;e Mhun \;sC
 
Is'q (qunknPqC) Mhy qC[HqM kChl\C ?;d =C� 
"~ k;nCdsq ;nC wCn~ 4/15 (k\C;qC) sN;s � M;wC dQ?C fnRCdAq� � sMPdX k;nCdsq KCs 44/5 (yhnn�� 
;=hus sMPdKq \PXC sM;s� 
I'a ;\y;~q nC;\[~ 1,/6 (qMh?X) yMCe fnRCdAq KCs Rdsh HKMsq yPsM C;?M hsMCn� 
Is'q ;\y;~q 7/38 (Cx?PsC) sh qCC a~ foPCeAq� Nhs hdC hf sMCa Qq (=hnC)� 
�s�q (APq;kkhPds) yMCe fnPCdAq Ahd's XCCk Rd shu?M� �us Ps M;kkCdq� 
I fCC\ (APq;kkhPes) yMCd fnPCdAq Ahd's ?;[_ yMCe sMC~ knhaPqCA� 
'haC kChk[C khqs nC;\[~ aC;d ?haaCdsq hd [PdC� TMC~ ?;d =C knCss~ 4//9 (q?;nC)� 
 s'q ;\y;~q (f;q?Pd;sC) sh IdA hus ;=hus hsMCn kChk\C'q Vh=q� 
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Simple past passive

A Write senten6es using the prompts given and the simple past passive. 

1� � 8ETXc2i^ bXT; I =ET8 I iT 2 ceX^2A; bXx 2e 2 BXceXT Pic;iP eCEc w;;k�

TC; bXT; I F8;TeFfy I 2c 2 T;w cZ;cF;c Xf 8ETXc2i^	 

2� TwX Q2FT cibw2y MFT;c I cMXc; I y;ce;^82y fX^ 2 c;cXT8 82y�

R;Z2E^c eX eC; MET;c I TXt cXPZM;e; I XT eFP;� 

3
 � MFk; cCXw FT N;w YX^k CEey I c2Tc;M I M2ce TFACe 2?;^ eC; M;28 cFTA;^ f;MM of eC; ce2A;�

TEck;e CXM8;^c I TXe ^;fiU8
 

4� PXMFc; I c2MM I eX 2T 2Z2reP;Te 2=g;r T;FACbX^c C;2^8 ce^2TA; cXiT8c�

� ^2ccXXT I e^2Z I ETcE8; eC; 2Z2^eP;Te� Ie I ^;PXk; I by 2TFR2M c;^kFc;c� 

Simple pas
 passive + by+ agent

A *emrite the tmo nems stories using the prompts given. Use the simple past passive and an adve`4
 
Use by mhere needed. 

1� � eCE;f b^Xk; ET eC^XiAC fC; ̂ XXf Xf 2 ZXMFc; ce2eFXT M2e; M2ce TEACe - eCETkETA Ee w2c 2 MXc2M bicFT;cc�
TC; ^XXf (Z2^eE2M I 82P2A;)'�wC;T eC; eCE;f f;MM eC^XiAC 2T8 M2V8;8 XT eC; fMXX^ Xf eC; ZXMEc; ce2eEXT�
TC; P2T (qiEck I 2^^;ce l 2T X>c;^ XT 9iey)� �MeCXiAC eC; P2T (c;^FXic I TXe FTji^;), C; (EPQ;8F2g; I
e2k; eX eC; ;Q;^A;Tcy ^XXP/ 2PbiM2Tc;)� PXMEc; c2y eC; bi^AM2^ 2M2^Pc 2e eC; ce2eEXT (e;QZX^2^y�
8EccXTT;ce)�

2� DXz;Tc Xf c2^c (b28 I 82P2A;) y;ce;^82y 2?;^ 2 f^;2k C2FMceXaP� TC; c2^c (CEe I N2^A; C2FMceXT;c) ET eC;
Z2^kETA MXe Xf 2 MXc2M ci[;^P2^k;e� OT; 8 F̂k;^ c2F8 C;^ wFT8cCE;M8 (cXQZM;e; I cC2ee;^)	 TC; ceX^;
(Z2^eF2M I fMXX8) FT eC; ceX^Q�
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